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3. Όχι, γιατί το άθροισμα θετικών δεν μπορεί να κάνει μηδέν. 

 

 

Β’ΘΕΜΑ 
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2.Α.  

Α+Β+Γ =180 

Α+Α=180 

2Α =180  → Α=90    άρα 

ΒΓ2=ΑΒ2+ΑΓ2→ 

ΑΓ2=52-22→ ΑΓ2=21 → ΑΓ= 21  

 

Β. 

ημφ=ημ(180-Γ)=ημΓ     
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Γ’ΘΕΜΑ 

 

y=παιδιά 

x=δωμάτια 

y=2x+1    y=2x+1 2x+1=3x-12 x=13 

y=3(x-4)   y=3x-12 

Άρα  y=2·13+1 y=27 

 

 

 

 



 

 

 

Δ’ΘΕΜΑ 

α= πλευρά αρχική 

Α= πλευρά τελική 

Εαρχ=α2 

Ετελ=Α2                 Α =α+0,2α →Α=1,2α (1) 

Ετελ=(1,2α)2=1,44α2 
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  Το εμβαδόν αυξάνεται κατά 44% 

 

 

 


